& P . ——
er_ﬁf,-' 4 7 — h‘ I

Iy

Pt i s = e - =

0

A % s B pF R OP

0
(
B2 HBNE » B HEE SHUUTENoljEE

E# 312270 0 7y BRI EF T RS )

A EERAT FFT-F)200ml * 1+ F+SRUSEREET5mI L (]| E’J$650)

o L "

XA 5 - 1000mIF (VA £ 0 B ¥ ISS0R SEEEAIAT "L | e R T L Pz g A BFL000mIFL

1 [1000MIGE & H /8 fos i 1k B 5¢) 25 *35g+B F 72 400m| *4 < g # F 732 50ml *2| 3500 | 5660
2 |Fedsarid s B 1000m 2+ ds o %8 5 7% 400mI*1 Yo B Fuicaest iz 50mi*1 2240 | 5860
3 |1000MIGE K B/Efrd o BB ) & 4 gE a5 5 400m] 215 *35g 1900 | 5860
4 iz st iR 5% 400mI*2 Yo B Fuicaest i 50mie2 1750 | 2560
5 RFEILE R WL B F 52 400mI(SAP2016)* 4 e & 545 50mI*2 1600 | 2600
6 | [%3mve M ina® 5] %EKERE(Rea/iE4)50mI*4  Np s 2% 7 e xl 1740 | 2800
7 |4z A S (HA)A00mMI*2+-k & 58 & (R wx/35 % )50mI*2 Yo BE B % 75 17 L 2150 | 3440
8 |Ql0#afku & §50mI*2 VB 4 % 75 17 2 1800 | 3060
9 |#E(HA) [ 425 400ml *1 + 38 i $£-k200ml *1 + -k £ 5 B 50ml *1 ] 1440 | 2300
10 |k & BB (P R AR/ & 4)50mI*2 + QLOFLfk % & 5 50mI*L 1770 | 3080
11 [1000ml GF K B/E frtid MR g ) EE2+F A B K6 F150mI2  <Ffl > 1790 | 2740
12 |1000mI (F & B /R fr o MR § 1) EF*2+% 58§ 7£400mi*1 1760 | 2820
13 |#e B 54 (R 4o/id 14)1000m|* iz iE 2+, OB j8 % B F150mix1 1280 | 2040
14 gz T#GE I B 1000m I 1+imgs 5T R 5L % 400ml *1 B = 4% R +Fugc a5t i 50ml*l 1580 | 2380
15 | [ % %% 8 fo%i2 ] % B (pH3.8- &2)/F &4 w4 52])200m| 1= iE *4 1080 | 1680
16 | 343 & 52400m*2 1000 | 1560
17 ,#1 g,z;zfﬁv F50ml & k& r -k25ml @E¥12 Amadrr k10mIF2+5 it 9 B*6 2400 | 3600
18 [ %% 5 K 5:150mI*2 + 3 3% & ;eﬂmomvz R EEY 1060 | 1600
19 [ % 6 H#r150mI*4 (7 fop i 8 B -k F) LD - O G| 1200 | 1920
20 ,ﬁzieﬁv i$ 3 % 150m| 35*4 1200 | 2080
21 QlO‘f‘ & 547 200mI*3 (sx#r: 2014/6) YeBE 388 k5 $450m] *1 1400 | 2340
eS| FELT] £ %153 155 L.00mI 2 B8 3 YN S R400mISE £ (T (178 48) » SIS (5™ 5.5 pIRIpR) *1

22 B s2i% ¢ % 1000mI*3+28 y2 8 & 42 400m[*2+% ¥25 $ 100ml*1 PR SZF %£*3 | 3500 | 5710
23 |2 s23¢ ¢ §1000mI*2+% 52 2 %c 3 # & £ 100ml*1 PR SZE %£*1 | 1900 | 2970
24 |82 5252 3¢ % 1000mI*1+58 52 § 5% 400m|*2 F¥ B 52 ] *2 1650 | 2490
25 | [4545 9 7 5] R 2 e §1000mI*3 1850 | 2970
26 |2 272 ¢ & 1000mMI*2+%8 2 527% % 5.500m| (& B 528 & 5% 400ml) i 5 *1 1700 | 2700
27 | [R5k e g R & zs] s R4 4E § 200mI*1+3 % & 200m|*2 1420 | 2120
28 |% 528 & £ 400ml £ 2 23k B §.500m| iEiE *35Y 1420 | 2340
29 |B 2 22ci #6 5100mI* 1+ g F*2 PR S E*L 1000 | 1580
30 |2 2i¢ ¢ & 1000mI*1+% & & 1000ml*1 1250 | 2010
g |Z52d 33 F100ml | 250 | 380 @A £ %6 B150ml  [#751 7 ] 280 | 350
_ =g & ¥ 200ml 320 | 520 | i ik sk = -k 25ml 200 | 300
WCEELY: 150 | 200 | &2%% 8 8 & B 75m| /78473 3 4= & 75m| 360 | 520
B wara ~(# f 51) 320 | 520 [% & =4 £ 200m! 880 | 1280
& |23 %05 %100m | 780 | 1180|437 %8 i 4 -k (HA)200mI 370 | 580




